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Helen and Irene have gift coupons worth S75.50 and S75.25, respectively.
Whose coupon is worth more?

The price of a bag of potatoes is S4.76 at Store A and S4.79 at Store B. In which
store do the potatoes cost less?

The concert ticket was priced at S68.50 on Friday and S68.75 on Saturday.
On which day was the ticket price higher?

Zack spent S18.90 S18.75on lunch and on dinner. Which meal did Zack spend
less on?

Gavin and Clyde are saving their allowances to buy a new game. Gavin has 

S98.20, and Clyde has S95.75. Who has saved more?
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